902 AND C2AL HAVE STILES ON 44“ 0OC
SPACINT; 903 AND C3AL HAVE EQUAL-WIDTH
PANELS.

MODEL 902, 903, C2AL, C3AL
MAX 16°—2" WIDE X 18" HIGH

SECTION 1 -1

REINFORCEMENT ASSEMBLY
TYPICAL TO BOTTOM OF DOOR

MODEL IS MADE OF 6063-TS ALUMINUM
EXTRUSIONS.
WALL THICKNESS:

CENTER STILES FASTENED TO RAILS
TOP & BOTTOM RAILS 075 D
INTER. TOP & BOTTOM RAILS  .075 END STILES FASTENED TO WITH FULL LENGTH S/16° ALUMINUM
TOP HAS 1 x 1875° FIN RAILS WITH FULL LENGTH RODS AND FLANGE NUTS INTERMEDIATE BOTTOM
INTER. TOP RAIL CAP 040 / 5/16° ALUMINUM RODS AND RAIL
SINGLE & DOUBLE END STILES .075 ADJUSTABLE TOP ROLLER FLANGE NUTS 7
CENTER STILES 062 BRKT OF 12 GA. GALV. STL,,

7
FASTENED WITH (4) #14
X 5/8" SHT MTL SCREWS
REINFORCING FIN ON INTER., TOP
RAILS ANGLE CUT AT END STILES

COR-LOVLY CENTER HINGE OF 16 GA.
GALV. STEEL, ATTACHED TO INTER.
BOTTOM RAIL WITH (2 #14 x 5/8°
SHT MTL SCREWS AND TO INTER. TOP

INTERMEDIATE TOP
RAIL WITH REINFORCING
FIN AND CAP

(4) #14x5/8" SHEET
X/ METAL SCEWS

MEETING RAILS FORM A
WEATHERTIGHT TONGUE

SECTION 4 - 4| " _
AND GRODOVE JOINT SECTION 4 - 4 RAIL WITH (2 1/4 - 20 x 1/2* HEX SECTION 3 - 3
HEAD MACHINE SCREWS & NUTS
(2) 1/4"x3/4" SELF 2’ 10 BALL LONG SECTION 2 - 2
STEM STEEL ROLLER St N e - e
TAPPING SCREWS VITH STEEL OR
14 GA. END HING| NYLON TIRE
REINFORCING STRUTS
HEIGHT  |NO. OF SEE DESCRIPTION
FULL-VISION SECTIONS TO BE OF 1/8° DSB A’ L/ IN SECTION 1-1

GLASS OR 1/8” ACRYLIC OR BETTER, HELD IN

SECTIONS ==_['f=[l A

UP TO 8-0 4 +—1
ZBGEEI\\}ETH SNAPZIN GLAZING BEAD AND END ROLLER HINGES OF §-3 THRU 10-0| 5 THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
OPTIONAL ACRYLIC GLAZING IS PLASKOLITE 14 GA MIN GALV STEEL :g‘g _Tr'l::gld ii‘g ? ‘Q\\‘C\\ §:\\ \\\ -t WIND LOAD REQUIREMENTS OF THE FLORIDA BULDING CODE
OPTIX, AN APPROVED CLASS CC2 PLASTIC IN / 1 - - .
COMPLIANCE WITH FBC 2604 / IBC 2606, §A§IED‘E£H;’EIFT'LT‘L‘“ #l4 14-3 THRU 16-0| 8 - — ! RECIONS (REFER T CHASTER 16 vBC 7 lBoy - Deoris
SCREWS & (2) 1/4"x3/4" 16-3 THRU 18-0| 9 3N 2 4

NOWASC RN RN

THIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE
ULTIMATE WIND SPEEDS LISTED BELOW ACCORDING TO THE FLORIDA
BUILDING CODE OR THE INTERNATIONAL BUILDING CODE (BASED ON

SELF TAPPING SCREWS.

N TwO POINT

ASCE7-10) FOR THE FOLLOWING CONDITIONS: 1) ENCLOSED
BUILDING, 2) DOOR HAS 2’ OF WIDTH IN BUILDING'S END ZONE, 3)
ANY ROOF SLOPE, AND 4) TESTING IN ACCORDANCE WITH
ANSI/DASMA 108. SITE-SPECIFIC CALCULATIONS BY A QUALIFIED
DESIGN PROFESSIONAL MAY DIFFER.

THE DESIGN OF THE

SUPPORTING STRUCTURAL
ELEMENTS IS THE RESPONSIBILITY
OF THE BUILDING ENGINEER OR
ARCHITECT OF RECORD.

LT

NOTE: DOUBLE TRACK LOW
HEADROOM, HI-LIFT TRACK,
FOLLOW-THE—ROOF TRACK,
AND VERTICAL LIFT TRACK

y LOCKING

NSNS NS
NN

— 178" X 4" X 6" ALUMINUM OFF-SET PLATE
BOLTED TO EACH REINFORCING RIB WITH
(@ 174" HEX BOLTS & FLANGE NUTS, AT

[3) p—

ARE AVAILABLE OPTIONS. 3" EACH OFFSET PLATE LOCATION. 2~ ULTIMATE WIND 135 140 150 155 170
TRACK ALSO AVAILABLE. ) STEP PLATE X 2 X 1/8" ALUMINUM ANGLES BOLTED +—1 SPEED (MPH>
HORIZONTAL TRACK END HANGER BRACKET STEEL =V BOLTS & FLANGE NUTS AT EACH OFFSET WA, 162" EATISRE BconcolBc|ne| B
(SUPPLIED BY DOOR INSTALLER> CLOSES PLATE LOCATION. OFFSET PLATES LOCATED '
CAS[EABEELNUM ROLLER CHANNEL. INTERMEDIATE HANGER AT EACH STILE & AT CENTER OF EACH PANEL. FERTIEN My 5 oo MEAN ROOF HEIGHT| 25 | 157 | o5 | 15 a0
CAB REQUIRED FOR DOORS 120 AND HIGHER THICK SMOOTH AL UMINM
/' - - - - - DESIGN LOADS: +30.0 P.S.F. & —30.0 P.S.F.
\//\\//\\//\\/ TEST LOADS: +45.0 P.SF. & —45.0 P.SF.
oY ; ; > 2 x 2 x 1/8” ALUM ANGLE ATTACHED TO
4 BOTTOM RAIL W/ #14 x 5/8” SHT MTL SCREWS. DR R SIoNEDSS BLUE

: FIRST (BOTTOM) ANCHOR STARTING AT NO INK WITH A RAISED SEAL (EMBOSS).

1/8" X 4" X 6" ALUM OFF—SET PLATES BOLTED

GALV STEEL " MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. DESIGN ENGINEER
I 4 [ TRACK TO ANGLE LEG W/ 1/4” HEX BOLTS & FLANGE NUTS. jiGiEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE MARK W. WESTERFIELD, P.E.
7 7// I SECTIONS- 8EFEfEF,fA§E'LT52,';?(C/;IE§ ?}BEAALUSJHTAENG?C_E CBE(;:_TTES DOOR OPENING. FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513
g )
——————— — HORIZONTAL- TO OFFSET PLATES W/ 1/4" HEX BOLTS AND FLANGE NUTS | '
STEEL JAMBS
— i 14GA. MIN. BOTTOM ROLLER BRACKET OF 12 GA. GALV. STEEL, STEEL JAMBS | WOOD JAMBS 3/8"1-1/2" MIN. | SECTION 5-5
FASTENED WITH (4> #14 X 5/8° SHT MTL SCREWS SECTION 5-5 EUBED LAG :
BOTTOM SECTION REINFORCED W/ A TEMPERED ALUMINUM 3/16" MIN. STEEL | SCREW. WASHER | 3/16° U, e
GALVANIZED STEEL EXTRUSION WITH INTEGRAL RETAINER FOR FLEXIBLE VINYL ASTRAGAL. JAVB | REQ'D. 24" MAX. | MAY BE BACK—FILLED
| L 0.C. TO SECURE WITH_CONCRETE, BUT
" TRACK SECTIONS ASTRAGAL TO BE FLEXIBLE VINYL. MAY BE BACK—FILLED 1/47%3/4” 1G] 2x6 WOOD JAMB | NOT REQUIRED FOR
VERTICAL - .060 MIN.| WOOD JAMB ON CONCRETE | CONCRETE JAMBS WITH CONCRETE, BUT SELF TAPPINGl TO wooD | WELDING.
2000 PS| MIN. CONCRETE OR 2,000 PSI MIN NOT REQUIRED FOR SCREW. STRUCTURE.
[l VERTICAL TRACK CAN BE C—90 BLOCK | CONCRETE | SELF TAPPING SCREW. %(2) Shééﬁ-Ré)-C- 1-1/8" DIA. WASHER REQ'D. |
B EITHER BRACKET MOUNT, n _ " | | ANGLE TO BRACKET MOUNT OR -
>CONTINUOUS ANGLE OR 378" DIA x 1 142" 1/4"x1-1/2" | REVERSE OR' STeeL Jave. | CONTINUOUS ANGLE MOUNT | (Es0nd BracTRODES W)
OPENING REVERSE ANGLE TRACK. ALL SLEEVE ANCHOR. WASHER MIN. EMBED TAPCON ' CONTINUOUS | TRACK FASTENED TO 2X6 #2 | G4 GENTERS. TACK WELD
HEIGHT I TRACK BRACKETS AND INCLUDED. 17" MAX. O.C. | CONCRETE FASTENER. | ANGLE MOUNT | OR BETTER YELLOW PINE JAMB | TOE OF ANGLE AT SAME ., ’cs calv. REVERSE OR
1l TRACK CLIPS ARE 12 GA. TO SECURE 2x6 JAMB WASHER REQ'D. TRACK FASTENED / WITH ONE 5/16"X1-5/8"LG.LAG SPACING.  oONTINUOUS ANGLE MOUNT
[ GALV. STEEL. BRACKETS AND TO CONCRETE. | 14" MAX. 0.C. DIRECTLY TO |  SCREW PER BRACKET OR TRACK | TRACK FASTENED
24~ TYPICAL CLIPS ARE ATTACHED TO 3” MIN. EDGE DIST. | , TO SECURE ANGLE | STEEL JAMB CLIP LOCATION. [SECTION 5-5 DIRECTLY TO STEEL JAMB.
' CTR-CTR TRACK WITH EITHER TWO SECTION 5-5 e 15’;0 ﬁlcl)\lNCER[I;_—GrE DIST | MNUFACTULING PRODUCT CODE: WINDLOAD RATING | MANUFACTURED / PURCHASED
16, 1861_"’_ RIVETS OR ONE 1/4" | I 1 | SE‘CTIEIN 5;5 | - CLOPAY BUILDING PRODUCTS COMPANY MPC: C—-AL-1F 499 MAN
i - : BRACKET MOUNT OR CONTINUOUS | I—I| 8585 DUKE BLVD. DATE: .
T340 ANGLE MOUNT TRACK FASTENED TO | | - MASON, OH 45040 1—17—92 [vescrrn
2X6 #2 OR BETTER YELLOW PINE MODEL 902: +30/—30 DES
" » 12 GA. GALV. REVERSE OR T (513) 770—4800 DRAWN BY: : .
SIDE ELEVATION éé%EWWEER OQFEAS@P é&‘%%k%ﬁ? | ESSI\ITTI-ENESUSIRAE%%E MounT TRack | Buildi ng Products |ciopar core. AL RiGHTs ResERvED. e LEG DRAWING NUMBER: VER
STANDARD-LIFT TRACK DETAILS LOCATION. T0 CONGRETE. | Company D | 103295 IBC

|
FLORIDA PRODUCT APPROVAL 5678



